N = 0l & At & Ml A

2N AT
3 MsaY |4
ol AREHS S4 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AT YD 12,721,529 9,992,860 2,728,669
s 894,000
J| 1,727,344
= 731,572
Al 9,368,613
Hs4dd =4 12,693,849 9,957,536 2,736,313
s 894,000
J| 1,727,344
< 731,572
Al 9,340,933
AL EME |4 1,791,367 1,893,938 A 102,571
NIAAZXIGA 4 108,360 112,776 A4,416
201 2et24d] 91,500 92,000 A 500
01 At 22l 80,500 80,500 0
OM=sdgAL 25X XI& 350,000& = 2303l 80,500
02 =224l 1,000 1,500 A 500
OM=CHal Bl HY AE8Z 1,000
03 &AL I 10,000 10,000 0
Oz ®=2 ¢ = =9 MsSH3 10,000
202 O4dl 4,860 7,776 22,916
01 = LH 4 di 4,860 7,776 N2,916
OAZ=I|E AREA
81,000& = 3% * 2& = 103 4,860
203 YR =&l 10,000 10,000 0
03 AIMF=AH R =X H| 10,000 10,000 0
O&= & &2 MEUa =X 10,000
307 glz2+ol & 2,000 3,000 21,000
01 22724l 2,000 3,000 A 1,000
OMSHAXNE 224F 2 2,000
ZRATOHAE Aot st 9,100 11,200 A 2,100
201 et 8,400 10,500 A 2,100
03 & Ar2 I 8,400 10,500 A 2,100
Odstist A 8,400
301 LEd = 700 700 0
09 HALAHIX A S 700 700 0
O&stssx=:L 24 700
AEXXOAE 4 66,740 58,256 8,484
201 L4l 29,500 29,000 500
01 At 2t 2l 8,000 8,000 0
o =9 M= 60,000& * 50% 3,000




S A=Y M
HH: YR K4
ol AREHS S4 CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OXdX=d 828 elZa =
5,000& * 1,000 5,000
03 A2 G| 21,500 21,000 500
OsEg )88 ¢ 20,0008 * 40004 8,000
OdIEHEY S22 7Y 25,0008 = 30074 7,500
O&Xadd 41 ¢ 29 X 2,000
OMd=U3 M=l & 29 XN 4,000
202 044l 3,240 4,536 AN 1,296
01 2L I 3,240 4,536 AN 1,296
O&= HECH sE20HHE =&
81,000& * 22 * 2% x 103 3,240
301 et M= 34,000 24,720 9,280
09 HAIAHI X & 2 4,000 4,720 ANT20
O&XEd d=¢ 2te3 i =
200,000& * 53| 1,000
oolztol g Es I3 3,000
12 JIEtE2 A= 30,000 20,000 10,000
O&X=2d A== ™MLl XA 30,000
EHBHAI B ESHIIREEH 281,635 310,949 N29,314
201 YEt2 | 6,079 9,480 ~3,401
02 232 4| 6,079 9,480 A 3,401
OadE =4 29 2,879
o 22| d| 18,7008 * 1204 & 225
oMIIR2 20,000& = 120H& 240
oilsle+T 22 15,0008 * 1204 & 180
oSN (TVEAZ CIHYAIZRR)
52,800& * 1204 & 634
olt8tA S H| 160,000 * 50 & 800
o A& 22l KXYl 400,000 * 23] 800
OadE 511 29 3,200
oXtESXNH & XsXHAl 400,000& = 23] 800
o X&dAH=H| 200,000 = 12001 € 2,400
301 dEtE M =2 275,556 301,469 AN25,913
V= - 2SS4 275,556 301,469 A25,913
OagE 29 275,556
oXEX JE2 2,801,000& * 1 « 128 33,612
of4 JIEZ(ZIIUHE)
3,223,000& * 1 = 128 38,676
of4 JIEZ(ZIIUHE)
3,028,000& = 1  12& 36,336
oML D22 2,743,000& * 1€ = 12& 32,916
oxL JIE22 2,630,000& = 1  12& 31,560




EM: AZXY N
FM: HsdE 84
el AelEMS |4 )
SN HH-S(BN) - MBAY - B il HlnE2
o XNEX==g 500,000& = 19¥ = 12& 6,000
o=JltHE+¢ 300,000& = 29 128 7,200
ol MEZ&HH 100,000 = 4H 124 4,800
o g4l 130,000& = 5&H 128 7,800
o2 2| 50,000& = 5H 128 3,000
oXE X E&EFIHI
2,801,000& = 30% » 1H * 23| 1,681
oM HESIHI(2IIUWE)
3,223,000& = 30% » 1H * 23] 1,934
oM HEFIH(IIUHE)
3,028,000& = 30% » 1H * 23| 1,817
od4 YHEII
2,743,000 = 30% » 1H * 23] 1,646
o4 YEEIY
2,630,000 = 30% » 1H * 23| 1,578
oc=xUli2 dIEd & Has&H| 40,000
SR L] 800,000& = 5H =« 23| 8,000
oZ@ZHl PLH 3,000,000& * 4H * 13l 12,000
olfisla Zaz 5,000
stud=sg4ds A& 433,113 437,255 AN4,142
307 glz2tol & 55,000 54,355 645
02 IS AMHEE 55,000 54,355 645
OAxEHMAE S Halsd K& 55,000
308 XXM SO0l A 378,113 382,900 N4, 787
08 WHII20HStE = 378,113 382,900 N4, 787
Ogtud=s s48= XN& 182,300
OstuiM=s XX 21AHl XI&
24,000,000& * 471 96,000
OgXssw =378 2X oAdH X
1,400,000& 120 & 16,800
OH#0|cHe 2= HHZEM £X 38,974
OtHHESstn LY EE AX 26,291
OFX=stn WsA4 &3 Hod 17,748
sz 29 XN 311,454 307,859 3,595
307 gl2tol & 311,454 305,259 6,195
03 QIZtHNHE2LHEX 311,454 297,459 13,995
OHtAIM =3 =S¢ 209,556
SANR=2E 3,758,000& = 1H » 1228 45,096
o8 E 2,892,000& » 1H » 128 34,704
o8 2,950,000& » 1H » 1228 35,400
o= 2,970,000& » 1H » 128 35,640
o F 2,483,000& * 1€ » 123 29,796
oFg 2,410,000& » 1H 128 28,920




2N
X ZH -
L= B

el

e = |
o §0 H
LRER

Q @

>
Ho =
Hoox T
0x

|
2z

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OE&E =yl 17,463
o AR=2F  3,758,000& * 50% » 1H * 23] 3,758
1=k 2,892,000 = 50% » 1 * 23| 2,892
o8& 2,950,000& = 50% » 1H * 23] 2,950
oxg 2,970,000& = 50% » 1% * 23| 2,970
oFg 2,483,000& = 50% » 1% * 23] 2,483
oxFg 2,410,000& = 50% » 1H * 23| 2,410
C4liEg = 209,556,000& * 10% 20,956
EANE = 227,019,000& = 1/12 18,919
OAIR =29l 26,560
OM=3Zd gR=2l 1,500,000& * 12& 18,000
A EXN=E 243 XA 354,150 325,780 28,370
307 21201 A 354,150 325,780 28,370
02 It S AHE L 354,150 325,780 28,370
OXMsTEH 354,150
oH=&E A 315,950
oz =gt XA 12,200
oMA=RHE XA 8,000
cZJAE XN ¥ 228 X2 8,000
cMINHEI XA 6,000
oIt A2EHS B0 H&XA 4,000
M2 Y CHP WREMSHE At 23,200 24,500 A 1,300
307 21201 A 23,200 24,500 A 1,300
04 DIZHHALALSE E X 23,200 24,500 A 1,300
OdeIEM=EUZ &It 23,200
LATVUHE &I} 153,615 145,363 8,252
307 glz2tol & 153,615 145,363 8,252
04 QIZFHALAIH E = 153,615 145,363 8,252
OHMb56s 2R ECIMAE F It 153,615
ZRFC Z1L A= S& Al EE 50,000 0 50,000
201 LBt 50,000 0 50,000
01 At 22l 50,000 0 50,000
O 2021AIE Z& FC LEDEE, J1E Z1a
= 50,000
dEMSUHE 1,889,843 2,228,635 A 338,792
= 15,000
1,874,843
EHERAME M= 0 =10 22 157,675 160,000 A2,325
307 120l & 157,675 160,000 A2,325
04 DI2HHALALSE E X 157,675 160,000 N2,325




2N AT
FM: HsdE 84
@42 d2HsU (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02021 EHHAHY &= 0 =10 203 157,675
EHEHAIEDl S 20 2&EU3 9,350 14,000 A 4,650
307 glz2tol & 9,350 14,000 AN 4,650
04 QIZFHALAIH B = 9,350 14,000 A 4,650
OXM222] EHHMAIEI & 9,350
FMSAZRIT 2 A3 < 292,146 291,000 1,146
307 21201 A 292,146 291,000 1,146
04 QIZFHALAIR B = 292,146 291,000 1,146
OXN32s =2stMs22
EH S CHE 292,146
A M2 B HESM 191,950 190,000 1,950
307 21201 A 191,950 190,000 1,950
04 QIZFHALAIH B = 191,950 190,000 1,950
OX182 Efa)] M= g sHESU 2 191,950
e atD] 8= €0 2&EUE 44,660 52,000 AT7,340
307 21201 A 44,660 52,000 AT,340
04 DIZFHALALSE E X 44,660 52,000 AT,340
OM17a] EHHMAD| &= & 44,660
= =} s WA 400,162 395,000 5,162
307 gl2tol & 400,162 395,000 5,162
04 DIZHHALALSE E X 400,162 395,000 5,162
OHMbs73l &= F=H O 400,162
EHSHe| S OIAA CHIEE S2UE 45,068 50, 165 A5,097
307 glz2tol & 45,068 50,165 A5,097
04 QIZFHALAIH E = 45,068 50,165 25,097
02021 EHSH 2SI AA 45,068
A SBS IXtZ==E Of 38,300 35,020 3,280
307 21201 A 38,300 35,020 3,280
04 QIZFHALAIH B = 38,300 35,020 3,280
02021 EHEH AHZ SBS O &t =] 38,300
= HHE EHE =S 219,002 219,450 A 448
307 21201 A 219,002 219,450 A 448
04 DIZHHALALSE E X 219,002 219,450 A 448
OHM51e et =& 3
HEE 219,002
2021 M51el S=2X1E 2 &MU 8,790 0 8,790
307 21201 A 8,790 0 8,790
04 QIZFHALAIH B = 8,790 0 8,790




S A=Y M
HEM: ALY 4
Sl MRS (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OHM51e s8XY 2=l 8,790
2021 EH =310 K& HWH 175,896 0 175,896
307 giztol & 175,896 0 175,896
04 DIZ2tSHALALS B X 175,896 0 175,896
02021 =l =810 | WA 175,896
2021 A st ST (M508 =2 AEHAE Xt 49,894 0 49,894
SHgHA)
307 2iz2to| A 49,894 0 49,894
04 QIZ2tSHAFAFS B X 49,894 0 49,894
O 23 st -z & M50 &= A8
SUH3 1 Sa2HA 49,894
H13 EHEBHALHY M =SM HiS A3 U3 30,000 0 30,000
= 15,000
Al 15,000
307 2Iz2t0| & 30,000 0 30,000
= 15,000
Al 15,000
04 SIZ2ISHAAIH E & 30,000 0 30,000
OHMI13 EHEBHAHHY M =2&M HIS A= U3 30,000
o=} 15,000
Al 15,000
HEd2H 82 DEsStN =310 3 226,950 0 226,950
307 giztol A 226,950 0 226,950
04 DIZ2tSHALALS B X 226,950 0 226,950
Osdg3t 8= Nssn 53203 226,950
MEH O M 2,077,851 1,371,938 705,913
Il 404,344
= 20,572
Al 1,652,935
MEH=RE S 38,700 40,084 AN 1,384
201 et 22,960 22,400 560
01 AP 2t 2] d| 1,200 1,500 A 300
OAZXY M LdRFX 1,200
02 2224 H| 21,760 20,900 860
OAHOIEEH & HIIK2 1,200,008 ~ 12& 14,400
OHoIEEE S Mot=ER3
180,000 * 12& 2,160
ONMESANE 2RI AIESE 4,000
OFHdAUNWZSEZASE SIH 240,000& ~ 5& 1,200
202 04d| 3,240 5,184 N 1,944
01 2L I 3,240 5,184 N 1,944




2N AT
3 MsaY |4
ool MBSO K CERED
5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
OAZ=Y M R=2
81,000& * 4 * 2& * 53 3,240
203 YR =&l 10,000 10,000 0
03 AIF=XH R =AH| 10,000 10,000 0
OAXZ= ASHH 10,000
206 M= Hl 2,500 2,500 0
01 MHZ 8l 2,500 2,500 0
OHEMSAE 22l 2,500
AZIAH0IEA K 65,360 49,280 16,080
J| 45,752
< 9,804
Al 9,804
301 LA F 65,360 49,280 16,080
J| 45,752
< 9,804
Al 9,804
01 Ml28E 6= 65,360 49,280 16,080
OAZ=2E 0 SAAEY 65,360
J| 45,752
< 9,804
Al 9,804
MEHSXEA BEX 216,410 184,082 32,328
J| 102,312
Al 114,098
307 glz2tol & 216,410 184,082 32,328
J| 102,312
Al 114,098
02 LIt MAHEE 216,410 184,082 32,328
oJles 2,061,000& * 7 » 123 173,124
J| 86,562
Al 86,562
OMEXSXNE A HEFIHI
600,000& » 7 = 23] 8,400
o255+ 2,040
o740l4 1040128 70,0002 » 1H » 128 840
=10¢ 0l &t 100,000& = 18 = 128 1,200
OYHEIRES 32,846
c4HEH 205,000& = 78 » 123 17,220
J| 8,610
Al 8,610
o ElAF 170,000& » 798 = 128 14,280
J| 7,140
Al 7,140
c4HEEY Y3 16,020& = 7H » 123 1,346
ozd dsgs N 186,146 184,562 1,584




2N AT
3 MsaY |4
ool MBSO K (S5 &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 87,696
Al 98,450
307 glz2tol & 186,146 184,562 1,584
J| 87,696
Al 98,450
02 It M AHE X 186,146 184,562 1,584
oJlzg 2,061,000& * 6%¥ * 123 148,392
J| 74,196
Al 74,196
OZEF Il 600,000& = 6H =« 23| 7,200
oz2x5+¢ 2,400
=104 0l &t 100,000& = 18 = 128 1,200
=108 0l & 100,000& = 1H = 12& 1,200
OHERE= 28,154
c4UHEH 205,000& = 6% = 12& 14,760
J| 7,380
Al 7,380
SPS RS 170,000& = 6 = 128 12,240
J| 6,120
Al 6,120
cANEY Y3 16,020& = 6% = 12& 1,154
ZEE 28 MEMSUH ot 17,120 17,120 0
307 glz2tol & 17,120 17,120 0
04 QIZFHALAIH E = 17,120 17,120 0
OZZE 24 MEMFUHS =28 17,120
MExs T2 22 20,000 24,000 A 4,000
< 10,000
Al 10,000
307 21201 A 20,000 24,000 A 4,000
< 10,000
Al 10,000
02 LB AAFEX 20,000 24,000 A 4,000
OdENs=Z2Idl 23 XA 10,000
= 5,000
Al 5,000
Odaisns 29 10,000
< 5,000
Al 5,000
2R MENSUE Ot 142,060 142,340 A 280
307 glz2+ol & 142,060 142,340 A 280
04 QIZFHALAIH E = 142,060 142,340 A 280
OZ3az daEx=ta &8 125,730
OZ2 Fogdex=stz &d 16,330
mAE Hsny 29 31,860 32,390 A 530




S A=Y M
HEM: ALY 4
ool MBSO K CERED
_ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
307 2Iz2to| & 31,860 32,390 A 530
02 QIZHA AAIE E X 31,860 32,390 A 530
OAI A 7,460
OF7ua 6,400
Obts w4 18,000
M= Y S MEHUS 90,900 60,000 30,900
307 2iz2to| A 90,900 60,000 30,900
04 QIZ2tSHALALS B X 90,900 60,000 30,900
Od=2 & o2 MESHy=sUz =t 90,900
ZOHel MEHH =S 7,925 8,080 A 155
307 QI2t0| ™ 7,925 8,080 A 155
04 CIZ2tSHALALS B X 7,925 8,080 A 155
O&oel MeEHsHS &It 7,925
20 HEHAH 29 600,000 310,000 290,000
307 212t0| & 300,000 300,000 0
05 QIZ2tEF 2 300,000 300,000 0
OZ20M=46EH CI2tAE S AFSHI 300,000
401 AlEHIZL 2 0HY| 300,000 10,000 290,000
01 Al&H| 300,000 10,000 290,000
O=Z0HM=HEH AlAEAH| 300,000
2Z2MFAIE HH| 450,000 320,000 130,000
401 A& HIZ 2 0HY| 450,000 320,000 130,000
01 Al&H| 450,000 320,000 130,000
OAHOIEEE & 250,000
OsUM=AIE A 100,000
OAXTHOIE=E SHIMNE SAt 100,000
20IR2100 MBAASI 2% 206,250 0 206,250
J| 165,000
Al 41,250
307 QI2t0| ™ 206,250 0 206,250
J| 165,000
Al 41,250
02 AI2tAAMAIE E =X 206,250 0 206,250
O=0HM 100 HHEHHESHEYH 29 206,250
J| 165,000
Al 41,250
ool AZT2AX0IEH XS 5,120 0 5,120
J| 3,584
& 768
Al 768




S A=Y M
HEM: ALY 4
CHe: MEHsOP MY (2 &HH)
5 - 4
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
301 et A= 5,120 0 5,120
J| 3,584
& 768
Al 768
01 Al E & X 462 5,120 0 5,120
OHOMR AZXAZ 0/2H X 5,120
J| 3,584
= 768
Al 768
MEH =3 528,235 700,252 N 172,017
= 30,000
Al 498,235
ANEI MEH=03 113,312 96,000 17,312
307 giztol & 113,312 96,000 17,312
04 QIZ2tSHALALS B X 113,312 96,000 17,312
OEHEHAIED| S MESHN=FUS HAE 113,312
EHBH A AAHES OIS 19,480 25,000 A5,520
307 QI2t0| ™ 19,480 25,000 AN5,520
04 CIZ2tSHALALS B X 19,480 25,000 N5,520
OEHEE A ALAMHIS S A 19,480
EHEHAIEH 2R et =23 8,050 13,940 A5,890
307 212t0| & 8,050 13,940 A5,890
04 SIZ2ISHAAISHE E X 8,050 13,940 AN5,890
OEHEBRAIZH] 2RSS O2t2E 2Z3 W= 8,050
EHEH AN A =2=SS 0 HILIAT S 15,858 18,000 N2,142
307 2iz2to| A 15,858 18,000 N2,142
04 QIZ2tSHAFALS B X 15,858 18,000 N2,142
OFEjeAtE M=2=S302 HILIAMSE JH = 15,858
EHEH AL A =2=S Q1 BHESIE 3 31,310 33,190 A 1,880
307 gizto| A 31,310 33,190 A 1,880
04 CIZ2tSHALALSE B X 31,310 33,190 A 1,880
OEHEH A A=2=SSQ BHESIEH NS W= 31,310
EHBHAHY A =2ES350 S320 3 15,597 18,000 A2,403
307 2I2t0| ™ 15,597 18,000 A2,403
04 CIZ2tSHALALS B X 15,597 18,000 A2,403
OEHEH A A=2=S302 =2U3E A 15,597
MUAFEIE AHABE20UE 9,660 11,020 A 1,360
307 2Iz2t0| A 9,660 11,020 A 1,360
04 SIZ2SHAAISHE E & 9,660 11,020 A 1,360




EM: AZXY N
FM: HsdE 84
& MEHsU (&)
(o
SN EH . KIS A - B e Hl D= 2t
OFS g cloIthal JH = 9,660
SHZEAR a = 6,123 10,000 A 3,877
307 glz2+ol & 6,123 10,000 N 3,877
04 212t AL 6,123 10,000 A 3,877
oz ALYl UE N 6,123
DAL Z Al JIH & 7,390 8,000 A610
307 21201 A 7,390 8,000 A610
04 212t AL 7,390 8,000 A610
ODA Lk & 7,390
EHERAMHY M E M= 31,079 40,000 A 8,921
307 2201 A 31,079 40,000 A 8,921
04 BI2HeH At 31,079 40,000 A 8,921
OB AtHY B = S0 N 31,079
EHEH MR =283 E720U3 41,080 41,180 A 100
307 glz2tol & 41,080 41,180 A 100
04 BI2HSH At 41,080 41,180 A 100
OEHEH A ol 41,080
Mozl 2R T &te & 4,520 4,520 0
307 21201 A 4,520 4,520 0
04 212t AL 4,520 4,520 0
020214 feal 4,520
Hzgal ZHEEa A 29,230 30,000 AT70
307 21201 A 29,230 30,000 AT70
04 QIZFHALAIH B = 29,230 30,000 AT70
Oxl28sl &0
kS| 29,230
M33 S XA == i3l 9,516 0 9,516
307 21201 A 9,516 0 9,516
04 QIZFHALAIH B = 9,516 0 9,516
O3l A MI=Z0a WA 9,516
H2rsl 23 =83l ES 26,030 0 26,030
307 21201 A 26,030 0 26,030
04 BI2HSH AFAFE 26,030 0 26,030
OHm 273l Il HOIE=US M= 26,030
20214 EfeH 2 tHal JH= 60,000 0 60,000
< 30,000
Al 30,000
307 glz2tol & 60,000 0 60,000




2N AT
FM: HsdE 84
Helr dEHSUH (Sl & &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 30,000
Al 30,000
04 QIZFHALAIH E = 60,000 0 60,000
02021 BN OtES Hal izl 60,000
= 30,000
Al 30,000
20214 B 2HAXZX HAEY OHE 100,000 100,000 0
307 21201 A 100,000 100,000 0
04 QIZFHALAIH B & 100,000 100,000 0
02021 EHY REHAZ= HAEIY JHE 100,000
HMSIIGAETS - 2 6,406,553 3,762,773 2,643,780
s 894,000
J| 1,323,000
= 666,000
Al 3,523,553
SEZIE 22 282,078 344,078 A 62,000
101 @124l 26,638 36,986 A 10,348
04 JIZHZ2Z2XNESE S+ 26,638 36,986 A 10,348
o&ctizel 22X E= 26,638
=Jl2g 69,7603 * 2H » 152¢ 21,208
oFFE 69,7603 * 2H » 21 2,930
o 2HAlYH| 5,000& * 298 » 150 1,500
o HEF I 500,000& = 2H « 13| 1,000
201 £B-2d| 152,620 161,500 A 8,880
01 At 22l 22,800 35,800 A 13,000
OZJ&E Alg2el 29 7,000
O=2%X A2Z 2,000
OZJNE ANE 2R
60,0003 = 2¥ = 115¢ 13,800
02 =224l 129,820 125,700 4,120
02323 % HAl 55,100
clMIIR=a 1,500,000& = 12& 18,000
cMNGtERZ 2,500,000& = 12& 30,000
ocdoX FHExE 7,000,000& = 13l 7,000
o XS AHAI(1TH) 100
OdzHl 4,800
oZEEINE gl 400,000& ~ 43 1,600
oXtg ¥ XMCOIIAH H=ZHI
320,000& = 10& 3,200
OAE ZHIS X 20,000
oEEHAIY ME2 A& 20,000
O Xt 2,400




SN AZY M
HEM: ALY 4
e MIFIIBAIE XY - 22| (2 &HH)
- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
ogtE2AaE™ 200,000 = 12&€ 2,400
ORI AHHAAE S22 =249
2,450,000 = 4¥ 9,800
O2LLxHelAd A2 84
300,0008 * 24 = 12€ 7,200
OZEHIE S 5D ANES EIIEE 24 30,520
oEZEHINLY CHEHE DM, &AL
S ALIIMIS8Y otM22 HI|&8E 2
o 15,260,000& = 23| 30,520
202 04d| 1,620 2,592 NQ72
01 2L I 1,620 2,592 NQ72
OZSEEIE 22 g4R2FN
81,0008 x 2% x 22 x 53] 1,620
206 M = dl 38,000 35,000 3,000
01 T2l 38,000 35,000 3,000
OssdIE 2924 (MlUsS . H= M=2EE
) 30,000
ODNEIPHE XHE LEDXY
4,000,000 = 204 8,000
401 Al HI L2 THHI 15,000 90,000 AT75,000
01 Al&EH| 15,000 90,000 A 75,000
OZedINEE 2 0tAE2 ZTEHZA 8,000
OLNJ2HE2 RLHE HH|IZ2AH 7,000
405 XHAHFE S HI 48,200 18,000 30,200
01 XA 2 ZF S| 48,200 18,000 30,200
O8s: Bslle 7Y 21,000
OFEEINE NssANsSES 7Y 5,000
O&di=sa s20 2¢ 22,200
NS 2ege 248,586 292,482 A 43,896
101 2121 ] 26,638 36,986 A 10,348
04 JI2ZtHIZ22NEE S 26,638 36,986 A 10,348
O 22 22X B 26,638
ocllga 69,7603 * 2% x 152 21,208
oFEs 4G 69,760 x 28 x 21g 2,930
o 2HAIH| 5,0008 » 2% * 150 1,500
o ™A S IHH| 500,000& * 2% * 13| 1,000
201 Let2 | 196,500 238,200 A 41,700
01 AP 22| d| 8,000 15,000 AT7,000
ONEEME2 A2 29 8,000
02 2% H| 188,500 223,200 AN 34,700
OZ2Z222 ¥ HMA 165,500
olMIIR2 9,100,000& = 12&€ 109,200




S AZXY N
M sME B4
S MKIIBLAId Y - 2 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
oMt ER2 600,000& » 12& 7,200
osdl EIIEANE 300,000& * 13 300
oXMI|IHMRC =42 2,000,000& * 13 2,000
olxXdHAE 1,000,000& * 23| 2,000
oftdAEE 1,200,000& = 43| 4,800
oI H I (UHOAH ¥ Lha)
8,000,000& * 5& 40,000
OA& &l S XYl 15,000
ocNIAMEH AIES A& 15,000
OLNIANEA LI w22 24
250,000& = 12& 3,000
OINMHSH B M2 29 2,000
OlNIAMEA A=52 S22 HIIEE 849 3,000
202 (4] 648 1,296 648
01 2LHOHI 648 1,296 648
ONIAMESH gRFA
81,000& » 2 x 22 x 23| 648
206 M = Hl 12,800 11,000 1,800
01 & bl 12,800 11,000 1,800
O&I,S4&JH & M 7Y 4,800
OLEDZEY, =HAELEH 23 *¢ 8,000
401 Al HIL 201 12,000 0 12,000
01 A& HI 12,000 0 12,000
O M= CCTV HHI S Ak 12,000
BB AT XM 2% 22| 218,889 221,213 N2,324
& 40,000
Al 178,889
101 @124l 13,319 18,493 N5, 174
04 JI2ZtH 22 XNEE =+ 13,319 18,493 N5, 174
OAEZ=IOZA 22 22X B 13,319
ocllEza 69,7603 * 198 » 152¢ 10,604
oFEY 69,760 * 1H x 21 1,465
o 2HAH| 5,000& = 19 * 150 750
oY A ZF Iy 500,000 * 1 = 13 500
201 et A H| 85,570 101,620 A 16,050
01 AFR2t2l Yl 3,000 10,900 7,900
OAZ=OIA Alg2el 8 250,000& = 12& 3,000
02 352494l 82,570 90,720 A 8,150
03322 ¢ MA 40,160
olMII=3 2,000,000& = 12& 24,000
oMt ER2 1,000,000& = 12& 12,000




SH: AEZYH D
HE: MM SY

S MFIIBAExd - 22l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
cEJlomEe HExre
180,000& * 12& 2,160
oMa+X HAE 1,000,000 = 23l 2,000
O =l 1,800
o AX XTI eyl 450,000 » 43 1,800
OA&ZEHl S X bl 15,000
oAXXIA M2 A2 15,000
ORQUAHIAAE X2 2
450,000& = 12& 5,400
O2F=HMIAE A2 Y
1,500,000& * 4& 7| 6,000
OHHRAZXIE SH AME=s ZZLAMEZH &
A 14,210
206 T 2 bl 20,000 5,000 15,000
01 = tl 20,000 5,000 15,000
OAX=OIE 2922 12,000
OAZ=D3 LEDEYE 7Y 8,000
401 Al HIZ 201 I 100,000 94,600 5,400
< 40,000
Al 60,000
01 A& HI 100,000 94,600 5,400
O AT ARE d28 Wi 80,000
< 40,000
Al 40,000
OAZ=DZE MIASEH &MCOE 4 20,000
HEUNIME =85 AY 2,600,000 2,000,000 600,000
J| 1,300,000
Al 1,300,000
403 A X EHHSH20IA 2,600,000 2,000,000 600,000
J| 1,300,000
Al 1,300,000
02 SO 2SOICHsH A2 X 2| A I 2,600,000 2,000,000 600,000
OZE=2NSHE S&3t A8 HBASHI 2,600,000
J| 1,300,000
Al 1,300,000
EHHHERE MES AE EXI3A 890,000 0 890,000
s 267,000
< 187,000
Al 436,000
401 A& HIZ 201 Y] 890,000 0 890,000
s 267,000
< 187,000
Al 436,000
01 A& HI 890,000 0 890,000
OHHEZH HdEZ Ald EXISAM 890,000




SH: AEZYH D
HE: MM SY

el MIIIBAIEEd - 22 (Sl & &)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

267,000
187,000
436,000

= N[

]
o
N
w
4
02
A
02
o
1x
bl

,000,000 0 1,000,000
300,000
210,000
490,000

= N

401 AIEHIZ 2 I

,000,000 0 1,000,000
300,000
210,000
490,000

= A

01 A& HI 1,000,000 0 1,000,000
O1n&2,37&d =8 &£X 1,000,000
300,000

210,000
490,000

=z N

AR HES AL ZEXSA 1,090,000 0 1,090,000
327,000

229,000
534,000

Rl IEY

—

401 AIEBIZ 2THBI ,090,000 0 1,090,000
327,000
229,000

534,000

Z N

01 A€ HI

Oxd+&d &

—

,090,000 0 1,090,000

,090,000
327,000
229,000
534,000

r
{0
>
Tix
fix
ﬂ
Ok
>

= M

I
1
02
2
T
1
o0
=

77,000 0 77,000
Jl 23,000
Al 54,000

401 AIEHIZ 2 I 77,000 0 77,000
Jl 23,000
Al 54,000

01 A& HI 77,000 0 77,000
OZFFZ HE+= SA 77,000

Il 23,000
Al 54,000

0g
0z
o
02
Us]
(=
I>
H
[t
&
=
(S|

27,680 35,324 NT,644

Jl=&dl 27,680 35,324 NT,644

Jl=&34 27,680 35,324 AT,644

201 ¢er24| 22,720 30,024 AT,304

]| 22,720 30,024 AT,304
N&2g J123l 5,280




S ATEYHD
Mo WHSAAH (AT XYM I)
chel: D12 enes

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
o ATZX)|E 240,000& ~ 12& 2,880
o AT RAHL 200,000& = 128 2,400
OANEREE FL(SBAX 3,840
o AHEXJ|E 160,000& * 12& 1,920
o AZRAHL 160,000& * 12& 1,920
OHIMRINI A2 F 4,480
o AHZX)|E 160,000& * 404 * 23] 1,280
o AEZXY XN 80,000& * 20§ * 23] 320
o AT XAL 240,000 = 6CH * 23] 2,880
OZ2 &l 9,120
o AHEX]|E 8,000 * 8% » 52 x 12& 3,840
o AT RAHL 8,000& * 11 = 52 % 12& 5,280
202 04| 1,360 1,700 N340
01 2LHOHI 1,360 1,700 N340
Oblaz2 2 2o 1,360
203 € R =&lY| 3,600 3,600 0
04 2SI L RF=AH| 3,600 3,600 0
ORAEE gRF4H 300,000& * 12& 3,600




